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All questions are compulsory.

Questions from 1 to 20 carrying 1 mark each.
Questions from 21 to 24 carrying 3 marks cach.
Questions from 25 to 30 carrying 4 marks each.
Questions from 31 to 34 carrying 6 marks cach.

Which type of risk is associated with the possibility of loss as well as gain?
a) Speculative risk

b) Pure risk

¢) Uncertain risk

d) None of the above

Mr. Shenoy wanted to start business of supplying readymade garments-But he was wondering about
how much profit or return on investment he would be able to earn. This situation reflects which

‘characteristic of business?

a) Procurementof goods b) Creation of utilities c) Uncertainity of return d) Element of risk

A person gets his house insured from A and B insurance companies for Rs. 40,000 and 60,000
respectively. If that person suffers a loss of Rs. 40,000 due to the damage of his house, then he can
either claim 20,000 from both the companies or he can compensate his loss by claiming Rs.40,000 from
one company only. Later on both the companies will divide the compensation paid according to the
ratio of the insured amount to them. Name the type of insurance which the above case is related.

a) Life Insurance b) Double Insurance c¢) Re insurance d) All of the above

Ms. Mohini is one of the partners of Kejri Publishers. Her obsession with the firm is unknown to the
general public. Other than this district feature in all other aspects she is like the rest of the partners.
She contributes to the capital of the firm, takes part in the management, shared business profit &
losses, and also has unlimited liability towards the creditors.

Identify the type of partners to which Ms. Mobhini is related:
a) Nominal Partner b) Secret Partner  c) Sleeping partner d) Partner by estoppel

Durdarshi Ltd. Is a well known company in the industry to which it belongs. A very important
document at the time of its incorporation was prepared. The main feature of this document is that any
act beyond it is considered invalid and cannot be ratified even by a unanimous vote of the members.

Name the document.

a) Memorandum of association b) Article of association ) Prospectus d) None of these

In the absence of article of association applies.

a) TableF b) Table B c) TableC d) Table D
The capital of the company is divided into number of parts, each one of which is called
a) Dividend b) profit c) Interest  d) Share

E-business includes

a) E-commerce b) Production ¢) Product development d) All of the above
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It is largely due to the use of a very important constituent of e-business that today it has becom.c
possible for the firms to go in for flexible manufacturing. The use of computer networks makes it
possible for the marketing department to interact constantly with the production department and get
the customized products made as per the requirements of the individual customer. Here, parties
involved in the electronic transactions are from within a given business firm.

Name the type of e-business:
a) B2Bcommerce Db)B2C commerce c) C2C commerce d) None of the above
In a market, one trader lowers the price of his articles to increase the sale, the other is also bound to do
the same due to competition. Identify the cause of risk being portrayed in the case.
a) Humancause Db)Economiccause c) Natural cause d) Other causes
In case of life insurance, presence of insurable interest is required at the time of
a) Taking insurance policy and time of loss
b) Taking insurance policy
¢) Incurrence of loss

d) None of the above

‘Radha Krishna constructions’ a partnership firm is formed for the accomplishment of a project,

namely building of a public school. It will dissolve automatically when the purpose for which it was
formed is fulfilled.

Name the type of partnership firm:
a) General partnership  b) Limited partnership c) Particular partnership d) Partnership at will

Which of the following do not come under E-banking?
a) Electronic fund transfer b) Automated teller machine c) Debitcard d) Overdraft

Mr. Manish Sisodia is always involved in the formation of the company. He mainly involved himself
in conceiving a business idea and taking an initiative to form a company, so that a practical shape can
be given to exploit the available business opportunities.
Name the stage in the formation of the company in which Mr. Sisodia is involved?

a) Promotionstage b)Incorporationstage c)Registration stage d) Both (b) and (c)

“Vishnu planned to join his father’s business and got engaged in his (father’s) sugarcane farm”.
Identify the type of industry being discussed in the above statement.

a) Extractive industry

b) Genetic industry

¢) Manufacturing industry

d) Construction industry

All activities involving the removal of hindrances in the process of exchange are involved in

a) Trade b) commerce ) auxiliaries to trade d) none of the above

Business risk is not likely to arise due to
a) Changes in government policy
b) Good management
¢) Employees dishonesty
d) Power failure

The minimum numbers of members allowed in a co-operative society is :
a) 10 b) 20 )7 d)2
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a) Identify the objectives fulfilled by Shreya, Shruti and Shabmam.
b) Also slate other objectives which are not mentioned in the above para.
(A) Name and explain the following;:
a) The most important or fundamental document of a company.
b) Document containing internal rules and regulations of the company.
(B) Also differentiate between two identified in part (A) on any three basis.
Ms. Sheetal is running a beauty parlour in Delhi. She is the owner, manager and labourer of her

business. She knows the fashion trend and gives personal attention to all her customers. Due to this,
she attracts more customers and earns high profit.

a) Which form of business organization is shown in the above para? Explain it
b) Give any three merits.
What is business risk? Explain its types in brief.

Discuss life insurance and discuss its types in detail.

Nitesh and Naveen decide to start a partnership firm together. Their common friend Smriti tells them
that it is advisible to have a written agreement as it constitutes an evidence of the conditions agreed
upon in partnership and proves to be helpful in resolving any controversies which may arise in future.
In context of the above case:-

a) Identify and explain the documents being referred to by Smriti.

b) State any sin aspects covered in this document.
Mr. Jitendra, the owner of ‘Jitendra steel industry’ does the whole sale trade of utensils. Some of the
utensils are made in his factory itself and some others, he purchases from other manufacturers. Every
day, he has to make payment to several other traders. He wants that as soon as he deposits money in
his bank it should be credited to the account of the receiver without any delay. On enquiring from the
bank, he learnt that through e-banking there are two systems available for sending money from one

place to another. According to one system, transfer of money from one bank to another is done in
batches and according to the other system, transactions are done one after the other in continuity.

a) State the names of these two systems.
b) Explain the systems in detail which will be useful to Mr. Jitendra.

Differentiate between life insurance, fire insurance and marine insurance on following basis:-
a) Subject matter b) Indemnity c) Insurable interest  d) element
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